CLASS:--12™ POLITICAL SCIENCE NOTES, CHAPTER:- 01

Very Short Answer Type Questions [2 Marks]

1. What is meant by the Cuba Missile Crisis?

Answer: Cuba was an ally of the Soviet Union and received both
diplomatic and financial aid from it. In 1962, Soviet Union placed
nuclear missiles in Cuba to convert it into a Russian base. This
move fired the US. It ordered American warships to intercept any
Soviet ships heading to Cuba as a way of warning the USSR of its
seriousness. A clash seemed imminent in what came to be known
as the Cuban Missile Crisis.

2. What was the main objective of New International Economic
Order?

Answer: The main objective of NSEO was to develop more to Least
(Economic) Developed countries of NAM and to lift them out of
poverty by their sustainable development.

3. Mention two military features of the Cold War.

Answer: 1. Cold War divided the world into two divisions namely
Western and Eastern alliances as well as SEATO and CENTO.

2. Mad arms race had taken to manu-facture atom-bomb and
nuclear weapons by Super Powers of the world.

4. Explain Eastern and Western alliance during Cold war.
Answer: 1. Cold War gave birth to Eastern Alliance known as
Warsaw Pact headed by Soviet Union in 1955 with the principal
function to counter NATO'’s forces.

2. Cold War created Western Alliance known as NATO in April 1949
by association of twelve states. Its policy was that an armed attack
on any one of them would be regarded as an attack on all of them
and everybody would be obliged to help each other.

5.When did NATO come into existence? How many states joined it?

Answer: NATO came into existence in April 1949 and twelve sca+
joined it.
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